(ERREAANE-ER]

EEEAER 2014454 ARET
[1] EXxHE
SEEEEAREEE] BIZ3BET 5,550/
(181[E[ZDF) 48 LI 6,550
EEEEAREERD E3ERET 4,300M
B48 LI 5,300
SEEEEARBED 6,500
SEERTEEEER Bo#MA 7,300
(1B1EIZDE) 2B LB 2,950
FRHEEREE(RIEICDE)
LY RINE (3 KH) 500M
HRME (L LE6ER)
ERRGEEENE EEAm 4,300M
EHEyE 3,000/
HBREEREFEmE 182E:AM 4,300M
1R3E L EDEHR 8,000/
24X IS AFIME (1 BI2O0F) 5,400
BEBREmME 6-8BF 18RF-228%F 2,100
FERME 22-6/F 4,200M
()] mEE
24BFRBRISARINE (1 BIZOF) 5,400/
FAEEMENAIZD
4j=|k%§(:ml:§'ci}?‘wi? 2,500/ %= 45,000/
REFEEEMENRIZDE) 2,650/
REMGFHEENEGEIEET)
*EEFBENEDDIREDISEES 5,200/
BET
SREEA—STIVTTERER 20,000/

(m)

ZDERECERERETDAVIFLVRAZICHSINE

BIRRHEREEMNE
(1RIz2oE, FIAZEDIKREICIGLA2
EIZRE)

6,000 7=1%8,000M

BIE X B EE GREER) 6,000/
EEEEFEREENE (AIC1E) 3,000
EEEEREBSHTI7LUAME (BI22@) 2,000
(V] R®REERNHE
25 Fri85kmELA 100M
SER HE5kmElE 5kmZ&100M
EROUER (BE. MHERR) 10,000

FAXMES (ERRIECHREEETA

A X X x F Ed B
WE | BMEEG0s b b
THEREARER
B B ] |
5,550 x 3[E] x 4;8 128|848
= 66, 600M SR EEME = 11, 685M
7,400 x 1[] = 5, 000M
= 7,400 + = 3EI&E
2,950/ x 11[8] 24B5E SRS E = 35, 055M
= 32, 450 = 5, 400

\ ShRIE AT — a 24BN A H O FI )
2% &t FEAARG CKERREAIS) ENEES REBEHIT—TILEASP



